


DIFFICULTY 

NEEDLES
A 5.00mm circular knitting needle, 40cm long.
Wool needle for sewing in ends.

TENSION
19 sts and 23 rows to 10cm over patt, using  
5.00mm needles.

SPECIAL ABBREVIATION
SSK = slip next 2 sts singly and knitways, insert  
left-hand needle through front of both slipped sts 
from left to right and K2tog.

COWL
Using 5.00mm circular needle, cast on 121 sts. 
Join into the round being careful not to twist  
cast on edge.
1st round: K3, * yfwd, K2, SSK, K2tog, K2, 
yfwd, K1, rep from * to last st, K1.
2nd round: Knit.
3rd round: K2, * yfwd, K2, SSK, K2tog, K2, 
yfwd, K1, rep from * to last 2 sts, K2.
4th round: Knit.
Last 4 rounds form patt.

Cont in patt until work measures 40cm (or  
you run out of yarn), ending with a 2nd or  
4th patt round.
Cast off.

FINISHING
Sew in all ends.

#A410

MEASUREMENTS
Depth (approx) cm 40

Circumference cm 65

Yarn Required:
Lincraft Cakes 200g balls 1

Lace Cowl


